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Department of Mathematics, 2020-2021

CLASS: XII Revision Worksheet - Unit Test - 1 27-05-2020
OBJECTIVE TYPE (1 Mark)
Iz A
QL | tan (5) +tan™(}) =
T T 3n n
A 3 B 1 C T D 5
Q2. | cos? g + cos™? % = cos~x,thenx = is
33 65 36 11
A — B — C — D —
65 33 65 12
3. -1(1 -1,1 -1(1 -1(1) _
Q tan (3) + tan (5) + tan (7) + tan (8) =
7 T
A i B 1 c sm D -
4 4 4
Q4. tan 1(2) + tan™1(3) =
7 T
A i B T c sm D -
4 4 4
Q.5. tan™1(x) + tan"1(y) = %, thenx +y+ xy =
1 1
A — B — C 3 D 1
i 2 V3
Q6. |If tan '(x)+ tan™l(y) +tan™1(2) = m,thenx+y+z-xyz=
A |1 B [-1 c | 0 | D | x%y2z2
COSX — Sinx
Q7. tan™1 (— ) =
cosx + sinx
A B r +x C T_ X D r +x
X 4 4 2
Q8. . . .
Ifa =sin"'—,B = cos™ = ,thensin(a + B) =
25 5
117 24 21 441
A — B — C — D —
125 25 125 125
Q9. | 1f cos1 (i:i) + tan™! (xifl) = 2?”, then x =
A |2+ % B 2 -3 C 243 D V3-1
Q0. TT 7 NT=a?
If tan™1 =
V1+x2+ V1 —x2
n 1 n 1 1 m 1
A Z+§cos‘1x2 B Z—Ecos‘lxz C Ecos‘lx2 D E—Ecos‘lxz
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Q11 Iff(x) =x+7 and g(x) =x -7, then f(g(7)) =
A 0 B -7 C 7 D 14
Q.12 Let R be arelation in the set N of all-natural numbers given by R = {(x,y):x =y — 2,y > 6},
' then choose the coorect answer
A (6,8)€eR (2,4)eR (3,8)eR (1,7)eR
Q.13 | Therelation Rin N X N such that (a,b)R(c,d) @ a+d =b +cis
A reflexive only B | symmetriconly | C tran51t1v.e and p| " equlv.alence
reflexive relation
Q14 |Letf:RtoR: f(x)= V3 —x3,then fof(x) =
A 33— %3 B X5—3 C X D (3 +x)°
Q15 |Letf:NtoS: f(x) = 9x? + 6x — 5,where S is the range of f ,then f~1(43) =
8 8
A 2 B 2,— 3 C -2, 3 D -3,-2
Q16 |Letf:NtoS: f(x) = 9x%+ 6x — 5,where S is the range of f ,then f~1(x) =
A Vvx—6+1 B vx+6+1 C Vx—6—1 D vx+6—1
3 3 3 3
Q.17 | The relation R on the set N X N defined by (a, b) R (c, d) & ad = bc, for all (3, b),(c, d) e NX N is
reflexive and an equivalence symmetric and reflexive and
A symmetric but B quiv: C | transitive butnot | D | transitive but
iy relation . .
not transitive reflexive not symmetric
Q18 |Iff(x) = ==, x # 1, then
Al F®<O | B | e =) O
does not exist
Q19 |If f(x)=7x+8,9(x) =9x — 6,then (fog) 1 (x) =
63 1 x + 34 x+ 63
A B —— C D
x + 34 63(x + 34) 63 34
Q20 | Letf(x)= x*+3 th tical tote(s)of th h
. et f(x = T ar— 32 en vertical asymptote(s)of the graph of f
A x=4,x= —8 B x=+V3 C x=—4x=8 |D x=2,x=4
" 1 B 2 A 3. D 4 C
3 5 D 6 C 7 C 8 A
= 9 B 10 B 11 C 12 A
g 13 D 14 C 15 A 16 D
17 B 18 B 19 C 20 A
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